
% % % % % % %

Не 

справились 1482 992 67 933 63 100 7 982 66 523 35 644 43 307 21

Справились
1482 490 33 549 37 1382 93 500 34 959 65 838 57 1175 79

ИТОГО 1482 1482 100 1482 100 1482 100 1482 100 1482 100 1482 100 1482 100

Количество обучающихся не справившихся с проверяемым элементом содержания

Количество 

сдающих 

экзамен

Задания с кратким ответом (Часть 2)

2 3 4 5 6 7 8
































































































































